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Ayestion 1

ot yet answered
Marked out of 1.00

03m39m 393930 NYbJ0ol Byzghob Bgemdpomgdo
rl—z+1, z<1

flz)=< 3z—-2, 1<zr<?2
2¢+2, r>2

Select one:
Oa 3
Ob 2
Oc 1@o2
Od 1
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Question 2

Not yet answered
Marked out of 1.00

03m39m 393930 NYbJool bobhmao

_Jz2—4x46, <3
f#)=15,_1 >3

Select one:
Oa 4
Ob. 2
Oec 5
Od 3
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D%5Cbegin%7Bcases%7Dx%5E2-4x%2B6%2C%20%26%20x%20%5Cle%203%20%5C%5C2x-1%20%26%20x%3E3%20%5Cend%7Bcases%7D
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Question 3

Not yet answered

Marked out of 1.00

(1 3060390 ™oL Mo 3603369¢mmdoLbomgol 0gbgoo BPbdiE0o Y6Y39¢ho

ar?4+2z+1, r<1

f(@)={

Select one:
Oa. 3
Ob. 2
O¢c 5
Od 4
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r+4,

r>1
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=a
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D%5Cbegin%7Bcases%7Dax%5E2%2B2x%2B1%2C%20%26%20x%20%5Cle%201%20%5C%5Cx%2B4%2C%20%26%20x%3E1%20%5Cend%7Bcases%7D
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Question 4

Not yet answered
Marked out of 1.00

+ sindz?

303MM30MYm dM30M0 3:1 l%-[n[] In (1 1t g 2)
Select one:

Oa 5

Ob. 6

Oc 3

Od 4

Question 5

Not yet answered
Marked out of 1.00

03M390 f (5[;) — 3 _ 6r 2 -4 Or -4 3 89693006 yEoEgLo 860836g9mmds  [0;2] byadgbHBY.

Select one:
Oa 2
O b. 5
Oec 3
Od 4

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32514&cmid=1965 4/12


https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Clim%20%5Climits_%7Bx%5Cto%200%7D%20%5Cfrac%7Bsin4x%5E2%7D%7Bln%281%2Btgx%5E2%29%7D%20
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3Dx%5E3-6x%5E2%2B9x%2B3
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Question 6

Not yet answered
Marked out of 1.00

osogon f(x) =3xS +9x2—27x 417 au6dsoct d06e3ydo

Select one:
Oa 4
Ob. 2
Oc 5
Od 3

Question 7

Not yet answered
Marked out of 1.00

4 3
03M39mM y — 'i:_g — % — 2 _|_ r— 5 QY6J300L gMrox030L 3MBBgJommMol Tyommgwols Logmdy.

Select one:
Oa 9
O b 4
Oec 2
Od 3
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D3x%5E3%2B9x%5E2-27x%2B17%20
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3D%5Cfrac%7Bx%5E4%7D%7B12%7D-%5Cfrac%7Bx%5E3%7D%7B6%7D-x%5E2%2Bx-5
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Question 8

Not yet answered
Marked out of 1.00

03M39M y =T 3 _|_ 6 T 2 _|_ 8 QY6JE00L gMrox030L goEomybzol BamiHomol m&m@obodo.

Select one:
O a. 20
O b. 11
Oc 24
O d. 29

Question 9

Not yet answered
Marked out of 1.00

03M39mM y — 3 — 3 T 2 _|_ 2 T _|_ ]_ Botol M 0 ( ]_ } ]_) BgmBHoemdo gogmgdymo dbgdol m®mEobohmo mamdmob
300339000 By Hommol m®mEobodo.

Select one:
Oa 4
O b. 5
Oec 3
Od 2
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3Dx%5E3%2B6x%5E2%2B8
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3Dx%5E3-3x%5E2%2B2x%2B1
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=M_0%20%281%3B1%29
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Question 10

Not yet answered
Marked out of 1.00

03M39m f;;(]‘io)? 0y f(ﬂ?;y) = $2y3+$3y2+3$2—2y+5

Select one:
Oa. 8
Ob. 9
Oc 6
Od 7

Question 11

Not yet answered
Marked out of 1.00

om0 f iy (1) o0f (w39) = ¥+ 3wy 2 +oyd—20+3y—1.

Select one:
Oa 8
O b. 9
Oc 1
O d. 10
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f_x%5E%7B%27%7D%20%281%3B0%29%2C
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%3By%29%3Dx%5E2%20y%5E3%2Bx%5E3%20y%5E2%2B3x%5E2-2y%2B5.
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f_%7Bxy%7D%5E%7B%27%27%7D%20%281%3B1%29%2C%20
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%20f%28x%3By%29%3Dx%5E5%2B3xy%5E2%2Bxy%5E3-2x%2B3y-1.
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Question 12

Not yet answered
Marked out of 1.00

osogoo f(z;y) =22 —2y2+xy—3x+3y-+4 awbiscb sgsoegtat.

Select one:
Oa 4
Ob. 5
Oc 6
Od 3
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https://testing.gtu.ge/filter/tex/texdebug.php
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Question 13

Not yet answered
Marked out of 1.00

300Mm30M9m goblodmgMmymo 0bhgatomo
1

(bzxt—4zx+3)dx
0

Select one:
Oa 8
Ob. 2
Oc 7
Od 9
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https://testing.gtu.ge/filter/tex/texdebug.php
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Question 14

Not yet answered
Marked out of 1.00

300MmM30Mam goblodmgMymo 0bhgadmomo Bolidol bgMbom (2 T8 E noT ) d SU)

O35

Select one:
Oa. 6
Ob. 4
Oc 1
Od 3
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https://testing.gtu.ge/filter/tex/texdebug.php
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Question 15

Not yet answered
Marked out of 1.00

n
2

303MmmM3omM9m gobLodmgmymo 0bhga®momo babommoomo 0bhgamgool bgdmbom f$ g E noT d T
0

Select one:
O a 1
Ob. 7
Oc 8
Od 6
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint_%7B0%7D%5E%7B%5Cfrac%7B%5Cpi%7D%7B2%7D%7Dx%20sinxdx
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Question 16

Not yet answered
Marked out of 1.00

300mm30mgm 03 bbgymol dMEYEM MY, MMIZMOE J00Yod dME39d7xmo Bo®mgdom 3gamLodM3M MO ogyMol dMYb3om O X
®9gedols gom3gdm

y=Viz;y=0;x=1

Select one:
O a. 2m
O b, 7w
O c 8m
O d. 9m
« »
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%20OX%20
https://testing.gtu.ge/filter/tex/texdebug.php
https://testing.gtu.ge/mod/quiz/view.php?id=1633&forceview=1
https://testing.gtu.ge/mod/quiz/view.php?id=1634&forceview=1

